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04 JIZtN2 2N S+ 18,914 9,227 9,687
OAIDIAIEEl & ssAlg2c] 217y 18,914
-= 78,8803 * 1 » 216¥ 17,039
-ABIEE D1 2RYES
17,038,080 * 11% 1,875
201 er2 3| 110,056 109,136 920
01 At2teltl 14,692 13,772 920
O&J|tdat el =
250,000 * 123 3,000
OAYOIHEY (442
340,000 * 123 4,080
OZFDXRIME 227 Q2| (s
110,000& = 12& 1,320
OFAt € =€ H=IIS 7
5,000 = 100K 500
O&=J| &¢el 44,0002 * 5CH = 123 2,640
Odlal 22l 16,0003 » 104 * 12& 192
ouzd SIFE)| gtz
60,0008 = 3CH * 123 2,160

_2_




=K Es

Hu: QIS AH(L)
CHol: DIIZAL U BM=T] X2 (SHol: )
M- B SRASH) - HRAR - B2 of v A 2
OMPIZES 2)/15 58 +42
800,000& 800
02 S3=gHl 95,364 95,364 0
Os&k= € MA 49,240
80| & AGHEERS (A & XXM
8) 3,400,000& * 128 40,800
-85t & FXRS 150,000& = 12& 1,800
“HAF & FULAXAE HS 23
60,0008 = 123 720
“uWSHS 2= 450,000& * 128 5,400
EA Y FORXME RS ABE
35,0002 * 128 420
-AgrotM e Xt &2l 3|
100,000 * 13 100
Oty Szl 11,0003 » BAIZH * 105 9,240
OFAL & FQXXIHE AlEEHIKXIH 26,600
-2AEFXIHI(2,241m") 5,000,000 5,000
-0loiA =RA2el 3,000,000& 3,000
OIED| w2l % R
100,000 * 5CH 500
-HAS2E 250,000 * 420024 10,500
-HME&H |2l 200,000 = 28CH 5,600
“HAb 2= R 2,000,000& 2,000
O eI 4,284,000& 4,284
OSRUZHIAIAB (FAL & FRIXXIME)
500,000 = 128 6,000
401 AlEHIZL SO 13,500 10,000 3,500
01 Al&HI 13,500 10,000 3,500
OXgte Ade 2=(nH, +el, =4 &)
10,000,000& 10,000
OFAH M&D 20 8SHE =d0IEd 1
Al 3,500,000 3,500
NSASI2ZE M A2 2,600 1,040 1,560
201 et 3| 2,600 1,040 1,560
01 At2t2l] 2,600 1,040 1,560
OXISAMSIBHE MG &HA 2
50,0002 = 132 = 43 2,600
MOISEHM 2 K& 18,000 0 18,000
201 Ler23| 18,000 0 18,000
01 At2teltl 18,000 0 18,000
OMOtSsl 3o A
50,0008 * 602 * 63l 18,000
SHARSAEZT (] EH) 205,700 205,700
A EAIE A 205,700 205,700
QlEolZ ¥ AHZ2AY 97,700 97,700 0




SN A
MM SOARDAAEE (ALD)
SRl AR 2AIERA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 7,700 7,700
01 At2teltl 7,700 7,700
OEX0IZ HZAIAE(D-DAS) 2t 2toldA
e 7,700,000& 7,700
401 Al HIZ S OHbI 90,000 90,000
01 A28l 75,000 75,000
OkZ S A& FXE=H
50,000,000& 50,000
O2R2AE N S ST
10,000,000& 10,000
Okz8¥ N=&Y 15,000,000 15,000
03 Al S THYI 15,000 15,000 0
Otz % ottt EHIYit=
10,000,000 10,000
ON&ZH ext= 5,000,000& 5,000
Z22ZXH A 8,000 8,000 0
206 Tl 3,000 3,000
01 W=H 3,000 3,000
OBUZHAS HRT(SY L HIE S)
3,000,000 3,000
401 Al HIZ S 0HbI 5,000 5,000
01 AlZ2H| 5,000 5,000
Ostetxd & MxE S 5,000,000 5,000
FUFH A 100,000 100,000 0
401 Al HIZL S 0HYI 80,000 100,000 /20,000
01 Al&HI 80,000 100,000 220,000
OdEdHE TV XA
40,000,002 40,000
OU0lY MSDH MSAL 25 AL
40,000,000& 40,000
405 AtatE=H 20,000 20,000
01 TR =SFISHI 20,000 20,000
OBOl HEIS| BAF £ H| B2
20,000,000 20,000
HY2HIHI(FEY) 106,508 147,782 A4,274
Jl=ZHI(2EH) 106,508 147,782 A4,274
Jl=23t] 106,508 147,782 A4,274
201 fet= 3| 57,718 77,512 19,794
01 AtR2te|H] 45,406 65,200 A19,794
Ogal=gH(d=2t]) 14,550,000& 14,550
Oget=ZH| 5,958,000& 5,958
O=gH| 6,298,000& 6,298
OSAPI itz 190,000& = 123 2,280
Ons SAD| gXt= 380,000& = 123 4,560

_4_




M Ao
I BHSEAY (ALY
ool J1=2dI(agd) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdZ&EH A2F FHl 11,760
-2l Zelg 6,600
e 440,000 * 10H * 45 = 32 5,280
=™ 440,000& * 104 * 33 1,320
-gtIelE 200,000& = 9O * 22 3,600
-“SAINEHREEH)
200,000& = 2CH = 32 1,200
—+AX 120,000& = 10 * 32 360
02 S3=gHl 12,312 12,312 0
O338= € MA(RER3)
9,900,000& 9,900
OdddHl FA2=H| 2,412
-CHISARII1I
1,300,000 = 20CH * 5% 1,300
-Teig 4,000,000 * 10CH * 2% 800
-S A 15,000,000 = 1CH = 2% 300
+AX 600,000 * 1CH * 2% 12
202 04t 36,450 45,900 29,450
02 X0 36,450 45,900 9,450
OZH048I 36,450,000 36,450
203 =8| 10,840 10,880 A40
01 1228 R=4a| 6,600 6,600 0
osd 550,000 = 12& 6,600
02 HAJAHA R FAIH| 640 680 A0
OXE A& &3] 40,0008 * 16% 640
M A2 LRFEI 3,600 3,600 0
ORNEgg =AY
300,000& = 12& 3,600
405 AtaHE = 1,500 13,490 211,990
01 T ESFISHI 1,500 13,490 A11,990
Odsd dIIXNUE HIULLEZHE Y
1,500,000 1,500




